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integer col, lin, 1, j, j2 | B DOERES
parameter (col=81, lin=65) D /T A —H
real sla(col, lin) | “EHOEHES

real(8) lonl, latl, lon2, 1lat2, dist, dsla ! < (FfEEDFEKOLEKES

T open(10,file="20060816.KER.flat",access="direct",
eI T R

1 form="unformatted',status="old",recl=col*lin*4)

read(10,rec=1) sla | < 2% sla (2 E ET — X 2814 5

close(10)
, REBE T D & 7 &V AR
do i=100,100 . .
_ Z[HE L TW5H(E=100). =
lon1=130.12+(i-1)*(150.12-130.12)/81. . ;
ZE B ORD DO
lon2=lon1

(P> TELSED.

do j=1,lin-1
jo=i+1

DO V—7OAEHLED (FREITIM)

lat1=46.12-G-1)*(46.12-30.12)/65. DISTLL 1% 2 £ 0k e i
= -32-1)* - =L AL
lat2=46.12-(G2-1)*(46.12-30.12)/65. K s 0 B BE % 21 2

+ 7 —F> . CALL LT
call DISTLL(at1,lon1,lat2,lon2,dist) I

UH.
dsla=sla(1,j)-sla(,j2)

DO V—T D AEHLEQ (EEHH)

write(*,100) lat1,lon1,lat2,lon2,dsla,dist WEE100 CIHEESNTE
100 format("LAT1(N)=",£7.4," LON1(E)=",£8 .4, KA~ ¢, Wi ECEE
1" LAT2(N)=",f7.4," LON2(E)=",f8 .4, HAd 5.

1" dsla(cm)=",f9.4," Distance(km)=",f10.4)

g enddo

enddo

stop

end



